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g \g m Multiply decimals by powers of ten

Name: Date: Score:
2.752 x 100000 = 10.161 x 1000000 =
2985 %10 = 6.438 x 10 =
5.45 x 10000 = 6.555 x 100000 =
2.066 x 1000000 = 3.401 x 1000 =
8.268 x 1000 = 2.155 %100 =
8.392 x 100000 = 6.331 x 10 =
1.674 x 10 = 6.01 x 10 =
5.134 x 1000000 = 4.859 x 100000 =
5.496 x 10 = 10.744 x 100 =
6.978 x 100000 = 2.701 x 1000 =
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4 g Eb % Multiply decimals by powers of ten

Name: Date: Score:
2.752 x 100000 = 275200 10.161 x 1000000 = 10161000
2.985 x 10 = 29.85 6.438 x 10 = 64.38
5.45 x 10000 = 54500 6.555 x 100000 = 655500
2.066 x 1000000 = 2066000 3.401 x 1000 = 3401
8.268 x 1000 = 8268 2.155 x 100 = 215.5
8.392 x 100000 = 839200 6.331 x 10 = 63.31
1.674 x 10 = 16.74 6.01 x 10 = 60.1
5.134 x 1000000 = 5134000 4.859 x 100000 = 485900
5.496 x 10 = 54.96 10.744 x 100 = 1074.4
6.978 x 100000 = 697800 2.701 x 1000 = 2701
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